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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
T.B.C. : B-CRHE-O-PAPA |I || I I “ Test Booklet Series

_] et [y " T l
Serial
TEST BOOKLET
GENERAL ABILITY TEST
Time Allowed : Two Hours Maximum Marks : 100

INSTRUCTIONS

1. IMMEDTATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

3.  You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

4. This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English,
except for Questions relating to English Language which are in English only. Each item comprises
four responses (answers). You will select the response which you want to mark on the Answer Sheet.
In case, you feel that there is more than one correct response, mark the response which you consider
the best. In any case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Angwer Sheet.

6. All items carry equal marks.

7. Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the examination has

concluded, you should hand over to the Invigilator only the Answer Sheet. Yau are permitted to

Llake away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers:

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE CANDIDATE.
(i)  There are four alternatives for the answer to everv question. For each question which has a penalty for

which a wrong answer has been given by the candidate, one-third (0-33) of the marks assigned to that
question will be deducted as penalty.

(i) If a candidate gives more than one answer, il will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question, if it has a penalty.

(iii} If a qurestion is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
€T & : IS I () T 39 qeasdl & fod 5 W BT R |
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Directions : The following ten (10) items (items I to | 6-
10) are on English Language; therefore, these items
do not have Hindi Version.
1. What is the indication out of the sentence :
‘I gave him a piece of my mind’?
(a) Appreciation
{(b) Warning
(¢) Greeting
(d) Scolding =
2. What is the meaning of the expression :
‘Blue blood’ ?
(a) Polluted industrial waste water
(b) Sap of teak wood
(¢)  An aristocrat
(d) A costly object
3. ‘He was hoist by his own petard’ refers to
(a) He had problems as a result of his own
plans to hurt others
(b) He was high up on the pole
(¢) He would usually run away from
trouble
(d) He was indifferent to his surroundings
4. What is a Ballad ?
(a) A novel
(b) A historical narration
(c) A popular story or folktale in verse
(d) Musical comedy
5.  Plagiarism means
(a) There was an epidemic of plague in the
area 8.
(b) It is a sort of political philosophy
(c) It indicates a happy community spirit
like in playing Holi
(d) It is presenting the work of someone
else as one’s own

B-CRHE-O-PAPA

(2-A)

GET IT ON
Google Play

Rivalry between the two clans has become
water under the bridge means

(a) The rivalry continues
(b) It has become a thing of the past
(¢) It connects the two clans

(d) Itisnot forgotten

Consider the sentence :
‘The teacher gave me the book’
1 2 3 4 5 6

where the words are numbered for
convenience of reference. Consider also the
insertion of a single word ‘only’ into this
sentence to indicate a desired emphasis.
Where shall this word be inserted if the
emphasis is to be

(i)  On therecipient
(ii)  On the uniqueness of the item given
(iii) On the giver

respectively (only one at a time) ?

(a) (i) Between 3-4; (ii) After 6;

(ii1) Between 2-3

{(b) (i) Between 3-4; (ii) Between 5-6;
(iii) Before 1

(¢) (i)  Between 4-5; (ii) Between 3-4;
(iii) After1

(d) (i) Between 2-3;(ii) Between 4-5;

(iii) Between 1-2

What is the meaning of the term ‘didactic’ ?
(a) Intended to be inspirational

(b) Teaching a moral lesson

(c) Received as comical

(d) Sharing an informative experience
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A3 : RofeifEa g (10) F9319 (177-77?7 18 10) e. Rivalry between the two clans has become
I YT F & 39 37 A #7 o< AR water under the bridge means

781 R 7 & 1 (a) The rivalry continues

1. What is the indication out of the sentence : (b) It has become a thing of the past
‘1 gave him a piece of my mind’? (c) It connects the two clans
(a) Appreciation (d) Itis not forgotten

(b) Warning
(c) Greeting

) Scolding 7.  Consider the sentence
‘The teacher gave me the book’.
2. What is the meaning of the expression 1 2 3 4 5 6

Blue blood™? where the words are numbered for
(a) Polluted industrial waste water convenience of reference. Consider also the
(b) Sap of teak wood insertion of a single word ‘only’ into this

) sentence to indicate a desired emphasis.
(c)  An aristocrat Where shall this word be inserted if the
(d) A costly object emphasis is to be

i On the recipient
3. ‘He was hoist by his own petard’ refers to @ n recipien

(a) He had problems as a result of his own (ii)  On the uniqueness of the item given

plans to hurt others (iii) On the giver

b) He was high the pol : i
(b) e was high up on the pole respectively (only one at a time) ?

(c) He would usually run away from

trouble (a) (1) Between 3-4; (ii) After 6;
(d) He was indifferent to his surroundings (iii) Between 2-3
4. What is a Ballad ? (b) (i)  Between 3-4; (ii) Between 5-6;

(a) A novel (iii) Before 1

(b) A historical narration (¢) (i) Between 4-5; (ii) Between 3-4;
(c) A popular story or folktale in verse (iii) After 1
(d)  Musical comedy (d) (i) Between 2-3; (ii) Between 4-5;

- (iii) Between 1-2
5. Plagiarism means
(a) There was an epidemic of plague in the

area

. . . .
(b) Itis a sort of political philosophy 8. Whatis the meaning of the term ‘didactic’ ?

(c) It indicates a happy community spirit (a) Intended to be inspirational

like in playing Holi (b) Teaching a moral lesson

(d) It is presenting the work of someone (©)

N Received as comical
else as one’s own

(d) Sharing an informative experience

B-CRHE-O-PAPA (3-A)
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10.

11.

B-CRHE-O-PAPA

Consider the statement : ‘The message of
peace and brotherhood permeated the address
by the Chief Guest.” Which of the following is
meant by ‘permeate’ in this statement ?

(a)
(b)

To advocate

To spread all over

(¢) To anchor and stabilize
(d) To leave a permanent impression
Arrange the following to form a

grammatically correct sentence :

Einstein was

o

although a great scientist
3 weak in Arithmetic
4. right from his school days

Select the correct answer using the codes
given below :

(a) 4,1,3and?2
(b) 2,1,3and4
(¢) 4,3,1and?2
(d) 2,3,1and4

What is the chronological sequence of the
following events 7

1.  First Battle of Panipat

2.  Vietnam War

3. French Revolution
4, First Gulf War

5. World War 1

Select the correct answer using the codes
given below :

(a) 1,5,3,2and4
(b) 3,1,5,4and 2
(¢) 3,1,4,5and 2
(d 1,3,5,2and 4

(4-

12,

13‘

A)

GET IT ON
Google Play

A branch of scholarship that flourished in
Europe, particularly from the fifteenth to the
eighteenth centuries, and was devoted to the
appreciation, chronicling and classification of
historic and non-organic relics, monuments
and old texts refers to

(a) Archaeology

(b)  History

(¢)  Architecture

(d) Antiquarianism

Which of the following statements are correct
in respect of ‘Stridhana’ ?

1.  Various types of movable property
gifted to a woman on various
occasions during her lifetime.

2. Various types of movable property
gifted to a woman at the time of
her first marriage.

3 On the woman’s death, this wealth
could be inherited by her children
and husband.

4. On the woman's death, this wealth
could be inherited by her natural
legally adopted children, with none of
the sons-in-law, having any
claim on any part thereof.

Select the correct answer using the codes
given below :

(a) 2and 3 only
(b) 2and 4 only
(¢) 1land4only
(d) 1and3only




Adda

24

GET IT ON
Google Play

9. Consider the statement : ‘The message of | 12- fagm 1w W ?{frq 4, fordia: owsEel
peace and brotherhood permeated the address q erEdl vafsdr 9% el I S
by the Chief Guest.” Which of the following is ?T—ﬁ -
meant by ‘permeate’ in this statement ? Uegrfeen it arifash g{lﬁ“ﬁ'ﬂﬁ, T HI
(a) To advocate YEH el & UaN-fgaed, 3iie-oed
(b) To spread all over SR erffertor 1 FHfa Zﬁ’ﬁ’_@‘ fafdse et 2 2
(e) To anchor and stabilize (a) Wﬁﬁﬁﬂ
(d) Toleave a permanent impression (b) sfaE™

; (c) TAHCIhedl

10. Arrange the following to form a
grammatically correct sentence : (d) FUaEg
1. Einstein was
2 although a great scientist
3. weak in Arithmetic )

- : 13. ‘Efew & an ¥ Fefafea w0 § @ FR8
right from his school days
T 2 2
:iil:ithzl; f',orrect answer using the codes 1. B e e & s o W
(a) 4,1,3 . d2 s A i
a ,1,3an
% &9 § ¢ Sl 2 |
(b) 2,1,3and4
(¢ 4,3, land2 2. fafim yr & =@ s & & S &
(d 2,3 1land4 IoF yom f9aE ¥ gAY IvER ey &
EiniE s

11.  Frafafea gemet & Fengss w1 2 2 3. ®ft it gy W, F® 97 IEh HaW IR
1. THEE S Y99 35 ufa =t fatrea & firer wepar 2 |
2. fogam g 4. wf H GG W, T8 99 I GHH B
5 g i Ta® Hami &1 fovwed | e g 2, i

39 o4 % et oft v W 35 qmE 5 |
4. 99§ @El g5
fr Tenddt <1 ot =iE grenm & B TwaT |
5. WIH
o ﬁam i fom e e 1 A = Ed I g
<l C 8 I ﬂﬁl{ :
e Eﬁ( i (a) haw 23R 3

1,5,3,2 4
e e (b) had 2 3R 4
b) 3,1,5,4 2
® < (c) <haet 137 4

3,1,4,6 2 5
B 5 (d) ae 13 3
(d 1,3,523K4

B-CRHE-O-PAPA (5-A)
T ——————— ——
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14.

15.

16.

17‘

B-CRHE-O-PAPA

What is the number of States and Union
Territories in India ?

(a) 29and6
(b) 28and7
() 29and7
(d) 28andé6

Which of the following is mot true of the
Western Ghats ?

(a) UNESCO declared 39 places in the
Western Ghats as ‘World Heritage Sites’
in 2012

(b) It is one of the eight hottest hotspots of

biological diversity in the world

(¢) It has two reserves and thirteen

national parks

(d) ONGC surveys have recently found

huge oil reserves

Ayodhya is located at the bank of which
river ?

(a) Falgu

(b) Ganga

() Sarayu

(d) Yamuna

The Khilafat Committee accepted Mahatma
Gandhi’s suggestion for a non-violent
non-cooperation  protest  against  the
Government in its meeting at

(a) Bombay
(b) Nagpur
(c) Allahabad
(d) Kanpur

(6-

18.

19.

20.

A)

GET IT ON
Google Play

What is Know India Programme (KIP) ?

(a) A programme for children aged 12 — 15
years from rural areas to make them

aware of different aspects of India

(b) A programme that facilitates visits of
rural teachers to different parts of the

country

An  out-reach programme of the
Ministry of External Affairs to build
closer ties with India’s neighbourhood

(e)

(d) A programme for diaspora youth to
promote awareness among them about

different aspects of India

What is the perimeter of the figure shown
below ?

A B
c D
10 E F
G H
J 12 I

AJ =10 em, JI=12 c¢m,
AB=x,CD=x+41,EF=x+2,GH=x+3,
BC=DE=FG=HI=y

(a) 44 em
(b) 48cm
(c) bH4cem
(d) 58cm

Special Economic Zones (SEZ) are developed

to

(a) Generate additional economic activity
throughout the country

(b)  Beautify suburban areas

(c)  Upgrade the facilities in the countryside

(d) Promote investment from domestic and

foreign sources |
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e o feme U9 3 99 TeuE € 2
(a) 2936
(b) 2837
(@ 2937
@ 283Me6

ufeendt ure & an # Frafefiaa 8 @ sh-ar g

TR

(a) UNESCO ¥ 2012 ® ufegfi o =
39 Tl 1 ‘v faree v’ wifva fean

(b) % fava & Jo-fafeuya I e T
qaTl (BTeee giewle) o 8 U &

© 398 3 wikm @9 &9 ey AR U9

ECIER

e & # ONGC Taguwl § fawne dw
e g e #

(d)

sEre fobm A€t & 92 W oTafeyT 2 ?
(a) S
(b) T
(c) T
(d) 9T

flgamra =0 3 AT P T W g
o wgem Mt %, @R & foeg sfEEmws
wrEgam fotrg % ggma st Wi o o 7

(a) i’ﬂé

(b) ARTH
(c) ZeITEEIG

d) FHAE

18,

19.

20.

(7-A)

GET IT ON
Google Play

YT Rl ST FEEE (KIP) 41 8 2

(a) UMW &7 % 12 — 1599 7Y F T H
fou, 3% wra % fofim weqell & v A
HAITEH S B HEHH

(by etor forerent & 2w & faftm wwit | wmor
1 G A 8q HIEHH

(¢) WRA % Yl eut & @y feeat gy
FIW % fore oy darem %1 van S

() TR & o8 g ganedi & foro, wma &
faftm wegell % fawa § Srrewar sgH
2q HIAHH

T gts S mefa o ot a2 2
A B
c D
10 E N
G H
J 12 1

AJ=10em, JI =12 cm,
AB=x,CD=x+LEF=x+2 GH=x+3,
BC=DE=FG=Hl=y

(a) 44cm
(b) 48 cm
(¢) bBH4em
(d) 58em

faom anffe &=t (SEZ) #t Tre foe fasfaa

T T2 2

(@) ew W § afafee snfde nfafaf 3=
H & foe

(b) Sl & % grehe % for

(c) &Eﬁﬁgﬁmﬁﬁmﬁﬁ%%ﬁ

(d) e a9 fedsht @l ¥ Few & gada &
fou
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21.

220

B-CRHE-O-PAPA

Which of the following statements reflect the
distinctive features about 6™ century BCE
Ganas or Sanghas ?

L. The ancient Indian Ganas were
oligarchies,

2. The ancient Indian Ganas were
non-monarchical states.

3 Magadha, Kosala, Vatsa and Avanti
were the most powerful States of
that era.

4. The procedures of the Buddhist
monastic  order  (Sangha)  were
patterned on the Sangha politics.

Select the correct answer using the codes
given below :

(a) 1,2and3only
(b) 1,2,3and4
(¢) 1,2 and 4 only
(d) 3and4only

What is the chronological sequence of the
following developments ?

1.  Decline in the export of Indian cotton
2 Cotton boom in India
3. Civil War in America

Select the correct answer using the codes
given below :

(a) 1,3 and?2
(b) 2,3and1l
(¢) 1,2and3
(d 2,1and3

(8-

23.

25.

A)

GET IT ON
Google Play

Which of the following are the typical

differences between the private insurance

programmes and the social insurance

programmes ?

1.  Adequacy versus Equity

2.  Voluntary versus Mandatory
Participation

3. Contractual versus Statutory Rights

4,  Funding

Select the correct answer using the codes
given below :

(a) 1,2 and 3 only

(b) 1,2and4only

(¢) 3and4only

(d) 1,2,3and4

‘Unbalanced’ Growth is hypothesized when

(a) Expansion can take place
simultaneously on several growth
routes

(b)  Supply of labour is fixed
(¢}  Supply of capital is unlimited

(d) Active sectors need to, and do energize
sluggish sectors

Which of the following are incorporated in the
Government approved National Telecom
Policy, 2012 ?

1. Broadband for all with a minimum
download speed of two megabits per
second

2.  India’s rural tele-density to be improved
from 39% to T0% in the next five years

3. Roaming charges shall be scrapped
Select the correct answer using the codes
given below :

(a) 1and2only

(b) 1 and 3only

(¢) 2and3only

(d) 1,2and3
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21. Fr=fofad #udi § § #-8, ot yaedt BCE | 28. Fofofes & & wma fofi (wede) o

B-CRHE-O-PAPA

& il & wEl o fafive sifvaen s wfafaf |

HAE?

1 T e T e 3 |

2. WM W 70 WA TG 9 |

3. WY, ®Ed, 909 99 @A I T F

(9-A)

FHsHET a9 amTfers fiur FrRiwE & e wedt
fawg 2 2

1. T S S

2. wifces sam sfucors gruifiar

3. diagrens s ifafus sifter

4. Tasdtem

watfier wimae o5 3 | et 6T e e 1 S T wE I g
4. dig w3 a1 (F9) H wrEfafEt @9 W L 8
AR T shrefi Bt of | (b) Haer 1,231 4
(c) had 33 4
e o g e w1 R o EE W g @ 1,233 4
(a) had 1,23 3
| . ‘smgfaa w9y a9 wesferd @ R, s=
@ 12,89k 4 () wor, fafew @9fy ol w @waw &
(¢) “had 1,23 4 ekl &l
(d) e 33N 4 R A R
(e) iﬁﬁaﬁfqﬁaﬁﬁaﬁ
(@) ufra @3 % o srevEs a2 R 3
Tz 2 &3 %) Granfia aand ok 3 =%
Toramsfier &=ma 2
22. Tr=faiRa gemsHel 1 ety o1 8 2
1. v e % fele § g . Trefafen & & #98, @R gu EHied
TS e Hifd, 20124 wfafas 8 2
2. VRA H U I H o) 1. 2 AmfveE sf de 6 =EAw e
S e e TR & 919, a4t & o wisse
2. Il U o9 ¥ YRE & A
e few e e 1 T HwE I g e (2R # 39% ¥ I
A HL 70% HFET
3. Qftm ywRl = wEw e s
(b 2,331 = fy T e F WA W wd I TR
) 1,233 (a) o 13 2
(b) hHaer 131 3
& B1HK3 (¢) @haet 231 3
(@ 1,233
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26. Which of the following is one of the |30.
Millennium Development Goals fixed by the
UNO?

(a) Halving extreme poverty and halting
the spread of HIV/AIDS

(b) Develop a new variety of foodgrains
which can ensure bumper crops

(¢) To ensure that population does not | 31-
increase in the least developed countries

(d) Develop procedures towards adequate
and timely forewarning on hurricanes
and tsunamis
27. The term ‘Carbon footprint’ means
(a) A region which is rich in coal mines
(b) The amount of reduction in the emission | 32.
of CO, by a country

(¢) The use of Carbon in manufacturing
industries

(d) The amount of greenhouse gases
produced by our day-to-day activities

28. Amongst the following, who is the latest
recipient of the ‘Bharat Ratna’ award ?

(a) Sachin Tendulkar

(b)  Atal Bihari Vajpayee -
() Amartya Sen '
(d) A.P.J. Abdul Kalam

29. ‘Green Revolution’ in India was expeditiously
feasible in zones of
(a) High rainfall
(b) Moderate rainfall
(¢)  Assured irrigation
(d) Higher population density

B-CRHE-O-PAPA (10-A)

GET IT ON
Google Play

What is Apartheid ?

(a) An international organization of peace
(b) A medical term

(¢) A trade charter

(d) A policy of racial segregation

Transportation plays a great role in any
economy. Which of the following modes of
transportation has the highest elasticity ?

(a) Air
(b). Rail
(¢) Road
(d) Water

How does an expansionary monetary policy
affect the rate of interest and level of income ?

(a) Raises the level of income but lowers
the rate of interest

(b) Raises the rate of interest but lowers
the level of income

(¢) Raises both, the rate of interest and the
level of income

(d) Lowers both, the rate of interest and the

level of income

In a medium-size township, the trend of
annual immigration is an addition of 20% of
the population as it was at the beginning; also
15% of the population as it was at the
beginning is estimated to relocate elsewhere
every year. If the current population is 80000,
what- is the likely population three years
hence ?

(a) 90000
(b) 91200
(¢) 92000
(d) 92610
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26.

27.

B-CRHE-O-PAPA

28.

29,

Frafafga o @ 9 v, UNO g e fn
MU HewTes foma a5 0 4 T B 2

(a) 3Tdfas fdaar = 921 & 3ma S
3 HIV/AIDS % Y91 9 3w s

(b) Tl & 78 T sl s S wg
HEE GHTTa

(¢) %% ghifvaa w0 5 seuan famfae oo
T TG A ¥

(d) Sl qur gt & fava # g @R
T W YE wamEdt o areft Sieand
fopiaa @

‘e Pefiie’ vreg = F1 Ffw # 2

(a) U &, S HES I GHI A TR R

(b) Toelt 2% g1 CO, % Ieasa | i 7§ FH
AR IE

(c) Tafmio s § s =1 v
(d) R T9md % Feamad @ IEw
Ier3y 6l 1 9

frafafes # & ‘M ™ SR w1 eifaw
YRl S & ?

(a) @feH ﬂg?lfm"{

(b) et forardl aroet
(¢) 3 &

(d) TS vegw wAW

Wi H Eita swif’ fore & o wite & greg ot 2
(a) 3= 991 9t

(b) IFo9EE Ui G

() Tafesa fead o=t

(d) IHR FFEET T I

30.

31.

32.

(11-A)

GET IT ON
Google Play

T1-4e (Aqes) F= 8 2
(a) WNi=T %1 U IITT G713
(b) Tl ww=edt ez
(¢) SATEHETHSH STYUMY
(d) WA HYgE Hl U fifa

foredt off srefemaeen § uftes s 9 gt
Furar & | dfigms & Fafafegs v § @
e e = 2 2

(a) g

(b) &

(c) HsH

(d) St

gerwE 61 wHifgs fifd fFe e 4 = =
qIT A TR HI W4T FA B ?

(a) 3F T H deidl 3 TG AN g H
- Herd #

(b) SIS @ H W B WA T Tl HI
w3

() AT S 6YAT 3T &L 21 i sigrdl &

(d) =T & A1 ™ T F1 HI "ot §

forelt mem-sR & 3w §, affs smwas
#1 ygfa wifys see § 20% it 98 W W
# 2, =y € 3gEE 2 wifes e § 9
15% e a9 TAH 9ed L Hal 3N I 719 2 |
Ife Idu SEE 80000 2, df 319 § o9 ad
Uy ST SEEEET #4918 2

(a) 90000

(b) 91200

(¢) 92000

(d)y 92610
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34. ‘The Problem of Rupee’ was whose DSc | 38.
Thesis ?
(a)  Sri Aurobindo
(b) Dr. Rajendra Prasad
(¢) Pt. Jawaharlal Nehru
(d) Dr. Bhimrao Ambedkar
35. What is the correct sequence of tributaries of
the river Ganga from West to East ?
(a) Yamuna, Ghaghara, Son, Gandak and
Kosi
(b) Ghaghara, Yamuna, Gandak, Kosi and
Son
(¢)  Yamuna, Ghaghara, Gandak, Son, and
Kosi
(d) Ghaghara, Yamuna, Kosi, Gandak and
Son
36. There are two circles of radii r, and r,
(ry < ry). The area of the bigger circle is
_62&1 em®. The difference of their
circumferences is 22 cm. What is the sum of
the diameters of the two circles ? 39.
(a) 175 cm
(b) ~ 22em
(¢c) 285cm
(d) 35c¢m
37. Numbers Ay, 8y, By 8 8y .., 8y, are in
arithmetic progression and
a +a,+a+a . +ay, +a24=225. -
The value of
a +a,+a,+a, + a8+ .8+ 8, is
(a) 5256
(by 725
(c) 850
(d)y 900
B-CRHE-O-PAPA (12-A)

GET IT ON
Google Play

Under the Constitution of India, which of the
following statements are correct ?

1.  The Constitution is supreme.

2.  There is a clear division of powers

between the Union and the
State Governments.
3 Amendments to the Constitution have

to follow the prescribed procedure.

4. The Union Parliament and the State
Legislatures are sovereign.

5. The Preamble to the Constitution
cannot be invoked fo determine
the ambit of Fundamental Rights.

Select the correct answer using the codes
given below :

(a) 1,2,3,4andb

(b) 2,3 and 4 only

(¢) 1,4 and 5 only

{(d) 1,2and3only

When the Government ownership in Public
Sector Undertakings is diluted, it is called

(a)
(b)

Privatization
Public-Private Partnership
(c)  Disinvestment

(d) Deflation

The Right to Free and Compulsory Education
Act, 2009 provides for education to every child
in the age group

(a) b — 13 years

(b) B8 — 16 years

fe) 7 =15 years

(d) 6 — 14 years

-1‘—-_———_———_
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34, ‘f& uieew 31 ®f fFHusT DSe &1 MUYEY
o1 2
(a) &1 a@feaee
(b) 1. o= YR
() Y. TR A8E
(d) =, e ar=Es

"85, T T i HEE AfE W ufem @ @ 6
W TE I TR 2
(a) FGAT, |TERI, T, TEH I B
(b) ETERT, AHAT, TS, B! IHT HEA
(¢) FYAI, |TERT, W&, HA A HH
(d) ETERT, T, HEA, e I HE

36. r]3ﬂ'( rzﬁ?\’ﬂaﬁ (r1<r2)%aﬁﬂ§ lﬁ@
F ATFA 6‘—?23-;;1:12% | ITeh1 TRt 1 ot
22 em 2 | A1 el F A H AT F
22
(a) 175 em
(b 22em
(c) 28H5cm
(d) 35cm

37. Ay, By, Ay, By, Bg, oy Aoy R'@Iﬁ: AT érét 'Ef %
3T a1+a5+am+a15+a2u+a.24=225% |
a,+a,+a+a,+a;+.. 323+a2431'€‘—'fﬁw
g2
(a) 525
(b) 725
(e) 850
(d) 900

B-CRHE-O-PAPA

GET IT ON
Google Play

38. YA % @iaum & I, F=feflag =i 4
HIAH FE E 7

1. dHfeu gar= 2 |

9. HY qUI U "R & &g wiwar &
e fawrsT 2

3. @faum & gweat & oo fafea sfmn =
ITE FAT Bl B |

4. |9 &I GEg au U9 foumEed gy # |

5. H& Abswri A gty w1 Fuife @ $
fou afgum & @20 F1 EEw 65
ot = | |

e fou e e F1 W = OEE IW gAY

(a) 1,2, 3,435

Fae 2,330 4

(¢) ohael 1,43 5

(d) e 1,233

(b)

39, W HESHE & % IBRET § SR EiiEe
F9 b 5 2, ) 38 0 FEd B 7

Frsfiareor
BiEEIEEREE R i
fafse

STawhifa

(a)
(b)
(c)
(d)

40. s @ wtHEd fen & afyer afafmm,
2009 fopw 311y =i % vk a= % form fram @1
I9EY FHAT 8 ?

(a) 5-—133&
(b) 8-16T9
() 7-1599
(d 6-1434

(13-A)
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41.

42.

43.

B-CRHE-O-PAPA

If the Prime Minister of India is a member of
the Rajya Sabha

(a) He can make statements only in the

Rajya Sabha

He has to become a member of the Lok
Sabha within six months

He will not be able to speak on the
budget in the Lok Sabha

He will not be able to vote in his favour
in the event of a no-confidence motion

(b)

(c)

(d)

Which one of the following formed the basic
premise for  developing the Indian
Constitution ?

(a) The Government of India Act, 1935

(b) The U.S. Constitution

{(¢) The British Constitution

(d) The UN Charter

The Malimath Committee (2003) looked at

ways to reform the

(a) Educational System in India

(b) Criminal Justice System in India
(¢c) Copyright Laws in India

(d) Public-Private Partnership in India

What are the disadvantages of Provident
Fund Scheme ?

1.  Money is inadequate for risks occurring
early in working life.

2. Inflation erodes the real value of
savings.

3. It generates forced saving that can be
used to finance national development
plans.

Select the correct answer using the codes
given below :

(a) 1and2only
(b) 1and3only
(¢) 2and3only
(d 1,2and3

45.

(14-A)

GET IT ON
Google Play

Besides resistance to pests, what are the
other prospects for which plants have been
genetically engineered ?

1.  Toenable them to withstand drought

2. To increase the nutritive value of the
produce

3. To enable them to grow and do
photosynthesis in spaceships and space
stations

4, To increase their shelf life

Select the correct answer using the codes
given below :

(a) 1,2and3only
(b) 3and4only
(¢) 1,2and4only
(d 1,2,3and4

Consider the following items :
1.  Consumer goods and services
2.  (Gross private domestic investment

3. Goods and services produced by the
Government

4. Net income from abroad

Which of the above items are included in
GNP ?

(a) 1,2and 3 only
(b) 1,2 and 4 only
(¢) 3and4only
(d) 1,2,3and4
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Af2 wra &1 9uF T USG5 F 95 B, A
(a) 98 o U9 99T § &I Ied ¢ Ghdl &

(b) I8 TE WEMI % WX T YT I G
T BT

(c) o ©rh |HT § sore T A& st dem
(@) Afavare v 6 fufa o g8 s gy |
wd T ¢ yrem

frafafes & & S & 9z go i 2

ol vl wfeum fasfim gam 2

(a) Wa waA Affem (et orfe sfem
), 1935

(b) U.S. % Gfagm

(0) Tefew gfoum

(d) UN =somas

mifermy affa (2003) 3 fores gam & fog |

aten W e R 2

(a) W # fe yorreft

(b) WA # Tifs® =T gomedt
(e) mﬁuﬁfﬁmﬁm%ﬁx
(d) WG ¥ G-t wferd

gfgsy fafy Fremm 6 wifaai w=n 8 2

1. el Sed & T | "fdd @9 9
Sifgat & fom a9 st 2 g |

2. Hprehifd, s=@ & arafas T w5 &
FAA R

3. U9 Afad w99 wdl & e s
T e Femen & o & foo
Torar < weaT B |

e fow e e F1 vE = I g
(a) Hae 131 2

(b) wae 13K 3

(c) had 23 3

d 1,233

45.

46.

(15-A)

GET IT ON
Google Play

diewt & sfady F s@mE, W FREd 3=
gaEad # e T dbl w0 sigEtiea:
SR fora e 2 2

1. 3% TOYEER S

2. 399 & 9IYSH Hod Bl GgHl

3. I aregEl a9 mﬁaéﬁlﬁﬂ?ﬂﬁ
AT JHTS-ETAG HH 3 I G

4. I AU STy (e ) H @
= fou 7T e 1 @ R A S g
Fad 1,23K 3

(b) A 3 3N 4

(¢) Had 1,23 4

1,2,33M 4

(a)

(d)

frferfig wei w femm Fifs

1. 3I9HHE FegE g Hard

2. wHe el (Wrgae) wie ey

3. TIHR gHI Iediied aegy T Hamg
4, fogwi & frew o

Iufw wel ¥ & 6 GNP # wifte fen
27
(a) Haad 1,23 3
Had 1,23 4
Faer3 3T 4

1,2, 33 4

(b)
(c)
(d)
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47.

48.

B-CRHE-O-PAPA

Which of the following statements best
describes the content of the theory of
distribution ?

(a) The distribution of

different individuals in the economy

income among

(b) The distribution of income between the

Centre and the State Governments

(¢) The principle of just distribution of

wealth and income

(d) The distribution of income between the

owners of factor resources

The demand for a factor of production is said
to be derived demand because

1. It is a function of the profitability of an

enterprise
2. It depends on the supply of
complementary factors

3. It stems from the demand for the final
product

4. It arises out of means being scarce in

relation to wants

Which of the above reasons is/are correct ?
(a) 1only
(b) 3only
(¢) 2and4only

(d) 1,2,3and4

49,

(16-A)

GET IT ON
Google Play

Whenever countries set up a Free Trade Area,
they abolish all restrictions on trade among
themselves and

(a) They establish a common external tariff

on imports from outside countries

(b) They abolish all restrictions on imports
from outside countries

(¢) They abolish all restrictions on imports
from other Free Trade Areas

(d) Each country maintains its own set of

tariffs and quotas on imports from
outside countries

Which of the following are the functions of
Foreign Investment Promotion Board (FIPB) ?

1. To ensure expeditious clearance of the
proposals for foreign investment

2. To review periodically the
implementation of the proposals cleared
by the Board

3. To undertake all other activities for
promoting and facilitating  FDI
as considered necessary from time to

time

4. To interact with the FIPC being
constituted separately by the
Ministry of Industry

Select the correct answer using the codes
given below :

1, 2 and 3 only

(a)

(b) 1,2 and 4 only
(¢) 1,2,3and4
(d) 3 and4only
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47. Trefafas s § @ 9., oo + g

48'

B-CRHE-O-PAPA

61 iadeg I FEE B9 | aftfa s 8 2

(a) odeacyr ¥ faftm =fwat & &= o
7 T

(b) Hg a1 TSH TR & &= AT F
feraor

(¢) wYqfe a1 379 % =aEa faar & G

(d) ITEH FEHA] *F SIE 5 S ™ H
Terawor

IEUTC o HGh hi A I SFTA W FHE AWl
2, wiifs

1. =g Tt sam & emavear 1 b 8
2. U8 T HEH! i qfd g Pl @
3. ug oifaw Icure 6 Wi § Io9F Bl B

4. ¥E IFEEFAH $ GNE WEA 5 god
& & 3 Bt B

I FO § F HH-EE TE A8 2
(a) Had 1

(b) e 3

(c) Haw 23 4

(d) 1,2,33N4

(17-A)

-

50.

GET IT ON
Google Play

49. i i 29 FIE IF AUR &F A HG &, 9

e i =R g aft uftEsal S e W)
2d & @

(@) 9 @0 2 ¥ BN 9 Ml W Th
- E T S SUTTUG o od B

b 9 T 2@ ¥ B 9 FEE WA
yicra=4i ! THd T <d 8

4 I g WA &A1 8§ §F 9 Il
o @t sl Y g w3 §

TS oW, STEl el & B A1 Il W
I3 FTh TUT HIeT H WA TG
T 2

(c)

(d)

fesft 9w dads o€ (FIpB) % Frefafea
SRy IR TR E?

1 fash Fiw ¥ fore e 4 s Pl
(Ferete) g e

9. are g T (ferer) fop g seamEi &
ST P ATEER G FHHT

3. FDI % ®ad du gmiiew & ferg
FHg-g9Y 9 EYTS 999 MU 3= ot
TopaTerey T

4, IEW HETE g0 srer @ nfga foeu s @
FIPC % H19 3=A1-=afsa1 T

12 fw g2 &1y w o I g
(a) aE 1,23 3

(b) e 1,23 4

1,2,3 3 4

e 3 3N 4

(c)
(d)
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51.

52.

53.

B-CRHE-O-PAPA

The term ‘Dear Money’ refers to
(a)
(b)
(c)
(d)

Low rate of interest on housing loans
Value of money at the recession stage
High rate of interest

Savings gained due to decrease in rate
of interest on housing loans

A certain sequence of integers is constructed
as follows :

Consider 0 and 1 as the first two numbers.
The next, i.e. the third number is constructed
by their sums, ie. 1. This process of
constructing the next number by the sum of
the last two constructed numbers continues.
Taking these numbers 0, 1, 1 as the first,
second and third numbers in the sequence,
what will be the 7™ and 10™
respectively ?

(a) 6and30
(b) 7and33
(¢) 8and34
(d) 10and 39

numbers,

The Rangarajan Committee on disinvestment
of shares in Public Sector Enterprises
suggested that

1.  The percentage of equity to be divested
should be no more than 49% for
industries explicitly reserved for the
public sector and it should be either
74% or 100% for others.

2.  Year-wise targets of disinvestment
should be maintained.

Which of the above statements is/are correct ?
(a) 1lonly

(b)
(c)
(d)

2 only
Both 1 and 2
Neither 1 nor 2

55.

(18-A)

GET IT ON
Google Play

The Parliament can make any law for whole
or any part of India for implementing
international treaties

(a) With the consent of all the States

(b) With the consent of majority of the
States

(¢) With the consent of the States
concerned

(d) Without the consent of any State

In the study of pollution, SPM refers to

(a) Sulphur Phosphorus Matter
(b)  Sulphur Particulate Matter
(¢)  Solid Particulate Matter

(d) Suspended Particulate Matter

Which of the following industries were first
established during the British Rule in India ?

(a) Cotton Textile Industry; and Jute
Industry

(b) Jute Industry; and Iron and Steel
Industry

(¢) Cotton Textile Industry; and Chemical
Industry

(d) Jute Industry; and Chemical Industry
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51.

52.

53‘

B-CRHE-O-PAPA

‘wéht qgr’ v R Piffe w2 2
(a) rETEE Fon W = |
(b) T SFaEn H HET H G
(¢) T= HMN-gL

(d) TETEE wO W oSS < W b
THUT qTCq T

wh Tifvaa e % quits 1 F=fafea w9
wifed femm mar & -

T wfifm, 0 3t 1 3y H G FEd € | W=
21 % AMThe, I 1" Tell awiq ded
gem a1 | s 3 sfe geme
% A ® el g & wiug fe 9 i
I wferar 9t et 8 | Al ¥ o, 1, 1 TEId 34
s B weelt, gEdl o diwd wead €,
7t 3i 104 geaTd s = Bl 2

(a) 63 30

(b) 73 33

(¢) 83 34

(d 1037 39

oEehE aF% & Igu ¥ v & fafEw W

T |tufa 3 gam, 6

1. ifFd () f ogw A IH T
wftrerdar, Toed: GEEE 895 & fog
rfea 3T & fau 499 @ sfus T8
2R =R, offt o= % fow ar A 74% W
100% &1 =TT |

9. faf@w =1 sdar @&y =m0 W AW
I7fET |

Itk HeAl § | HE-AVE GE A 2
(a) Had 1

(b) HEHA 2

(¢) 13 28H

(@ T L,Ad2

54.

55.

56.

(19-A)

GET IT ON
Google Play

THe, AU GiEl & SEEEE gq S
HRG 91 9d & et am % o a8 fafy
Hehd! B

(a) gt Tsgi it gewfa @

(b) wEHES Tl I HEwld &

(¢) WEf=g =gl i gaafa o

(@) Tt oft vsa < wenfa & fomm

JeNT % eI |, SPM fdt Fifdse = 2 2
(a) TEH HEHE e
(b) TR TTfespere Hex
(¢) Hife widgere AR
(d) HESE Uegere Het

ara | fafew wom & S Fr=fefas samt
& HH-H, TEwYY Tf0d g0 9 2

(a) et o= IENT; qAT TEA FE
(b) UZEA JENT; 99T wig 3T T I
(¢) Yt 0 3T AU WA IAM

(d) YHT IENT; TG WEA IGM
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57.

58.

B-CRHE-O-PAPA

Which of the following are the roles of the

Finance Commission in India ?

1; The distribution of money collected
through taxes

2. Evaluation
schemes

of Centrally sponsored

3.  Evolve principles based on which funds
are allotted among States

4.  Todevelop Five Year Plans

Select the correct answer using the codes
given below :

(a) 1and4only
(b) 1and3only
(c) 2and4only
(d) 2and 3 only

Which of the following statements are correct
regarding the International Monetary Fund
(IMF) ?

1. India is a founder member of the IMF,

2. India’s quota in the IMF is more than
4 percent.

3. Finance  Minister 18
ex-officio on the IMF.

represented

4.  IMF conducts regular review of India’s
economic status under Article IV.

Select the correct answer using the codes
given below :

(a) 1,2and 3 only
(b) 1,3 and 4 only
(¢) 2and4only
(d) 1,2,3and4

59.

(20—-A)

GET IT ON
Google Play

A firm is purchasing two items, both on credit
on the same day. The credit term offered
for the first item is 2 é /10, 1/20, net 30; and
the credit term offered for the second item
is 3/5, 2/15, net 30. The declared purchase
cost of item 1 is ¥ 60,000 and that of item 2 is
F 1,40,000, If both credits can be settled on

the 14 day, what will be the total amount to

be paid out ?

(a) ¥ 1,97,200

by ¥ 1,97,500

(¢) T 1,96,600

(d) T 1,98,400

What was the position held by
Dr. S. Radhakrishnan, before he became

the Vice-President of India ?

(a) Ambassador to the U.S.A.

(b) Chairman, U.G.C.

(c) Chairman, Planning Commission

(d) Ambassador to the Soviet Union
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57. T=fafea # & ®=94, ara § fom smam &

58.
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sftreetd € 2
1. U G I T G T FA
2. g g RIS dest 1 g

3. 3 Tagi =l fowlm s e smm

w TsEl % o fftEl 1 sree g 2
4. vEadTy AeEe ® faswfe s
= fau Mo Fe 1 W= = wE I g
(@) ¥ae 194
(b) FaA 13N 3
(¢) FadA23 4
(d) FIa23R 3

mﬁgﬁqggraﬁw(m)%mﬁﬁmﬁﬁaa
FYAI H H HH-Y TEE ?

1. YAd IMF &1 959 955 2 |

9. IMF H YN & & 4 Yawd 9 A%
r

3.  IMFH fom wht wea sfafifiee @ 2

4. IMF, 3i9=0¢ IV % 31dfF, 9ra i s
feufa = Fafia gwleo s 2 |

#= fau U Fe F W@ = FE I g
(a) “hael 1,23 3

(b) I 1,33 4

(c) Hadd23N 4

d 1,2,33M4

59.

60.

(21-A)

GET IT ON
Google Play

IS HOAl & TG Hl, THT I E IR @g
w & fo =@ R | vEelt 3 % fo s
e TR 3uR fEaw (Shfge o) z%/m, 1/20,
fae 30 2; ot gEll 9vg F fou siw femn
T Sum free (sfee o) 8/5, 2/15, Few 30
® | S%g 1 i =9IfSa % AP T 60,000 B 3K
5] 2 1 9t 7 @FE T 1,40,000 B | I
21 IUR 149 & wamfom fee o o= &, @
WA 1 S ATl Fe afy F= a2

(@) ¥ 1,97,200

(b) ¥ 1,97,500

(© T 1,96,600

(d) ¥ 1,98,400

Ui & I9aufd @94 % 9sd o
TETHSIE GHT €T 98 41 97 2

(@) U.S.A.¥ T5igd

(b) U.G.C. I ea&

(¢) FISHT SR & oA
(d) @ifeFd F= H g




Adda

24

61.

62.

B-CRHE-O-PAPA

There are 20 girls and 30 boys in a class, and
their respective average marks are found to
be 55 and 58. The average marks of the entire
class are

(a) 565
(b) 566
(e) 567
(d) 568

Consider an industry with the following
features :

B Budgeted monthly fixed cost =
T 2,20,000

° Normal monthly output = 12000 per
standard labour hour

° Standard variable overhead rate = ¥ 25
per labour hour

What would be the total factory overhead
rate ?

(a)
(b)

Z 40-33 per labour hour
T 4167 per labour hour
(c)
(d)

¥ 42:67 per labour hour

¥ 43-33 per labour hour

Acid rain is due to

(a) Sulphur dioxide pollution

(b) Carbon monoxide pollution

(e) Pesticide pollution

(d) Dust particles in the atmosphere

DNA fingerprinting is a technique used for
the detection of

(a) Alzheimer’s disease

(b) Disputed parentage

(¢) AIDS

(d) Yellow fever

67.

(22-A)

GET IT ON
Google Play

There are four identically sized and shaped
balls in a box, with only its top open. Each
ball is of a different colour, these being :
Green, Red, White and Blue, only one ball of
each colour. Without looking into the box, one
ball is randomly picked out and its colour is
noted; then it is returned to the box. What are
the chances that, in two successive draws, one
may get the white ball and the red
ball — in whichever order ?

(a) 1/16
(b) 1/8
() 1/4
(d 1/2

Consider the following programmes :
1. Credit Linked Capital Subsidy Scheme
2. Micro Finance Programme

3. National Manufacturing
Competitiveness Programme

4,  Cluster Development Programme

What is common in the above programmes ?

(a) They are related

agriculture

to improving

(b) They are programmes related to Micro,

Small and Medium Enterprises
(¢) They are programmes to improve large
scale industries

(d) They are programmes to improve the

traditional cottage industries

SPAM in a system (e-mail) is
(a)
(b)
(c)
(d)

A message distributed indiscriminately
A search engine
An activity of the user

A command initiated by the sender
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62.

63.

feret e H 20 =iefRAT oMt 30 e &, 3N
% ITa I HAM: 55 AW 58 F | GO wen
% 3iehl =1 3Ed TR 2

(a) 565

(b) 566

(@ 567

(d 568

freferfiaa sy o feelt sem w fa=m
i
o w9 7 Ak FEa @ = < 2,20,000

o HWH WifEe IEE = 12000 ST OEE T
e

o W TRl IUNSTT T = T 25 9fd o =T |

ezl 61 Fo Iufemy < == Bl 2

(a) ¥ 40-339f0 o9 ¥
(b) T 41-67 i M w
(c) ¥ 42:679fd o9 e
(d) T 43-339fq o9 921

A 1 TehEeh SR BN & 7
(a) TEH SHHFAES TG00
(b) ST WHIFETES TZHT

(c) YIgFHATE Yguul
(d) aTaTET H e & H

DNA 3-8 (fFrfufen) aade & 39m
forereh g % foe fomm 9 2 2

(a) SAATEH (Alzheimer’s) T
(b) Toanfea seran

(¢) AIDS
(d) da set (I4 $i)

GET IT ON
Google Play

65. WM HY 3 3HR FH =R T2, had FW A

67.

(23-A)

g U HeH H 7 | I g - i 6 g,
PRUS S e, Hﬁﬁl@‘dﬂ?ﬂ | wF 71 i

mqﬁ—-?‘sﬁ—cr ﬂéaﬂtwmqﬁz
& g a@ﬁmr@ﬁmWIa
ﬁﬁmﬁw&lﬁﬁ@maﬂtﬁwﬁa%.

fepeft off orgshw o, fshret S Rl o HwTEE
B2

(a) 1/16

(h) 1/8

() 1/4

@ 12

Frafafaa seEa w fTmm Hifsu .

1. o weEg Ot 39eH dren (e foes
Fitew ufeudt =him)

gen fam weimn (s wete W)
e faftmion  afterufcssar S
(et Bgiheretn sHiafefeaa giam)

4. " foFm FEFT (TR STTw
)

Sueh FrEwE § - wd-ame s 2 2
(a) o MY & IR & weaf-ug &

(b) 9 gew, @Y N Hem Im § grafEa
FHrEHA A

(© & 52 M % I F guw & fou
HTAFH 3

(d) 9 JHuiE FER AW & IR F o
FHHH &

fopeft &= (3-51) o Ew (SPAM) 41 Bl 2 2

(a) oiuryy faafa B wn g dew

(b) TH @ () F5H

(¢) 3UATRAl i Teh Tfafafy

(d Yy g Wy fEm o @R guRw
(miE)




Adda

24

69.

A cylindrical closed tank contains 367 cubic
metres of water, and is filled to half of its
capacity. When the cylindrical tank is placed
upright on its circular base on level ground,
the height of the water in the tank is 4 metres
But when this tank is placed on its side on
level ground, what will be the height of the
surface of the water above the ground ?

(a) 9 metres
(h)
(c)

(d)

6 metres
3 metres
1 metre

Data regarding inventory of a particular item
of usage in the production activities of an
organization are : the quantity in stock is
1500 units and the value of this stock is
¥ 1,27,500. (This works out to an average
unit cost of T 85.) During the ensuing year X,

an additional 300 units are purchased at a

70.

B-CRHE-O-PAPA

unit cost of T 95. Consumption in production
processes during the year X has been
600 units. Working by the First-In-First-Out
basis, the value of the residual inventory
of the item at the end of the year X will be

(a) ¥ 1,00,000

(by ¥ 1,02,500

(¢) ¥ 1,065,000 -

(d)y ¥ 1,07,500

Consider the following statements about All
India Radio :

1. It is governed by the Prasar Bharati
Board.

It was so named in 1936.

Lo

3. It does not provide DTH services.

4, FM Rainbow and M Gold are
subsidiary channels.

its

Which of the above statements are correct ?
(a) 1,2and3only

(b) 3and 4 only

(¢) 1,2and4only

(d) 1,2,3and4

1.

72.

(24-A)
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The famous ‘Giri’ approach in Industrial
Relations in India espouses the cause of

(a) Adjudication

(b) Compulsory Collective Bargaining
(¢) Conciliation
(d) Arbitration

In a race, the first four winners are to be
awarded points. Each winner's points must be
5 more than that of the next position winner.
Total sum of the points to be awarded is 50.
What will be the points for the third position
winner ?

(a) 30
(by 20
(¢) - 10
d) 5

Which of the following trends in FDI inflows
are correct, ?

1. In 2003 — 04, the FDI Equity inflow
percentage growth was negative.

2. From 2004 — 05 to 2007 — 08, the FDI
inflows were very high and positive.

3. In 2008 — 09, the FDI inflows were
positive, but had decreased relative to
the previous year,

Select the correct answer using the codes
given below :

(a) 1and 3only
(b) 1,2and3

(¢) 2and 3 only
(d) 1and2only
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74. In raising an object to a given height by | 78.
means of an inclined plane, as compared with
raising the objeet vertically, there is a
reduction in
(a) Force to be applied
(b) Work required
(¢) Distance covered
(d)  Friction force

75. The mean and standard deviation of a set of
16 non-zero positive numbers in an | 79
observation are 26 and 3-5 respectively. The
mean and standard deviation of another set of
24 non-zero positive numbers without
changing the circumstances of both sets of
observations, are 29 and 3, respectively. The
mean and standard deviation of their
combined set of observations will respectively
be
(a) 27-8 and 321
(b) 26-2 and 3-32
(¢) 27-8 and 3-32
(d) 26-2 and 3-21

80.
76. A sinusoidal transverse wave is travelling on
a string. Any point on the string moves in
(a) SHM with the same angular frequency
as that of the wave

(b) SHM with a different frequency than
that of the wave

(¢)  Uniform circular motion with the same
angular speed as that of the wave

(d)  Uniform circular motion with a different
angular speed than that of the wave

77. The devices that work with computer systems
as soon as they are connected are deseribed as
(a) Hot Swapping
(b) Bay Swap
(¢) Plug-N-Play
(d) USB Swapping

B-CRHE-O-PAPA (26 -A )
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Which one of the following software
applications would be the most appropriate
for performing numerical and statistical
calculations ?

(a) Database

(b) Spreadsheet

(¢)  Graphics package
(d) Document processor

Consider the following statements on Global
Positioning System (GPS) :

1. GPS allows accurate time-stamping on
ATM transactions.

2. GPS relies on a set of satellites for
transferring signals worldwide.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2 only

(¢) Both1land2
(d) Neither 1 nor 2

Consider the following statements :

Cellular technology evolves in stages called
Generation (G), where

1. A Generation represents the number of
subscribers; higher Generation has
more subscribers.

2. 2G technology has two standards
CDMA and GSM.

3. 2G technology has CDMA standard and
3G has GSM standard.

Which of the above statements is/are correct ?

(a) 1 and 3 only
(b) 1only
(¢) 3only
(d) 2only
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81. LAN, WAN and MAN are computer networks | 84.
covering different areas. Their first alphabets
L, W and M respectively stand for
(a) Local, World and Middle
(b) Long, Wireless and Metropolitan
(¢) Local, Wide and Metropolitan
(d) Least, Wireless and Maximum
82. A rectangular garden is to be twice as long as
its width. If 360 m of fencing including gates
will totally enclose this garden, what is the
length of the garden ?
85.
(a) 120m
(b) 130m
() 140m
(d) 150m
86.
88. The ‘Cloud Computing’ technology refers to
(a) A set of algorithms that solves problems
using fuzzy logic
(b) Many computers that are
interconnected through wireless
networks and satellites
o : 87.
(¢) A distributed computer architecture
that provides software, infrastructure
and platforms just as required by
applications/users
(d) A futuristic technology that will use
clouds to perform computing
B-CRHE-O-PAPA (28-A)
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Consider the following for

Nano-technology :

statements

1. It isthe technology of creating materials
and devices atom-by-atom.

2.  Physical properties at the

nanometer scale.

change

3. Chemical properties change at the
nanometer scale.

Which of the above statements are correct ?
(a) 1and2only

(b) 1and 3 only

(¢) 2and3only

(d 1,2and3

The Large Hadron Collider (LHC) used in the

CERN project is a particle accelerator located
on the border between

(a) Spain and France

(b) France and Germany
(¢) Spain and Switzerland
(d) France and Switzerland

The
transmission

method of communication in which
can take place in both
directions, but happens only in one direction
at a time, is called

(a) Duplex

(b) Half Duplex

(¢) Full Duplex

(d) Simplex

A collection of programs that controls how the
computer system runs and processel
information is called

(a) Compiler

(b) Operating System
(¢) Linker

(d) Assembler
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88. SMPS is the acronym for 92,
(a) Store Mode Power Supply
(b Single Mode Power Supply
(c) Switch Mode Power Supply
(d) Start Mode Power Supply
89. USB is the acronym for
(a)  Uniform Service Broadcasting
(b)  Unique Solution Bus
(¢)  Universal Serial Bus
(d) Universal Service Broadcasting
90. In a chess tournament, each of the six players
will play with every other player exactly once.
What is the number of matches that will be
played during the tournament ?
(a) 10
(by 15
() 20
(dy 25 93.
91. The Maternity Benefit Act, 1961 (M.B. Act)
provides for how many weeks wages during
the maternity period ?
(a) 11 weeks
(b) 12 weeks
(c) 13 weeks
(d) 14 weeks
B-CRHE-O-PAPA (30-A)
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Which of the following are the instruments of

providing social security in India ?
1.  Income Tax

2.  Employees’ Provident Fund
3.  General Sales Tax

4. LIC

5.  National Pension Scheme

6. Postal Provident Fund

Select the correct answer using the codes

given below :

(a) 1,2,3and4
(b 2,3,4andb
() 2,4,5and6
(d 3,4,5and 6

A man buys apples at a certain price per
dozen and sells them at 8 times that price per

hundred. What percentage does he gain or

lose ?

(a) 4% profit
(b) 6% profit
() 4% loss
(d) 6% loss



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai247

88. SMPS faraet yitanfl wee (wRifm) 2 2

89.

90.

91‘

B-CRHE-O-PAPA

(a) @Tﬁg‘ﬁéﬂwﬁ
(b) Térer wrE vl g
(¢) T ors oiaw gwrd
d) VR Mg it qrg

USB ferge! uftaff wez (wrifim) 2 2
(a) FFer afdy siswfen

(b) FHH HiegIH §H

(0 FFade Hifad =

(d) Ifade ufdy sfewfen

IS HI U Wa-ulaatar d, o8 fgenfegt &
T v Rawmdl ® g faemdt & wry geneda;
U R Wern | We-sfeaiiEr % de @ 9
arer S=1 1 g w4 2t 2

(a) 10
(b) 15
) 20
(d 25

wqia sgfaur sfufEy, 1961 (M.B. sifufem)
vgfd F % dF e gue A wwed @
IUEY 3 ?

(a) 1149<d®

(b) 1298

() 1398

(d) 14¥<dT8

92,

93'

(31-A)

GET IT ON
Google Play

fefefas & 9 $98, wwa § e g
Y& & % HIYT 8 2

1. FE

2. wHar wiesy ffy

3. W faws w

4. LC

5.  USHT 9yF Frm

6. = wigsy ffy

A f3U T e 1 T = gd I gh
(a) 1,2,33N 4
(b) 2,3,43M5
() 2,4,53M 6

(d) 8,4,53M 6

1§ = & Rt 9 o fma W 3
Gligar 2 3R 3€ 3I% Sima H 8 [ AR W
A5l HHd TR A9 a1 @ | I Frad sl
Y 91 71 8rft 2

(a) 4% @™

(b) 6%

(© 4%FH

@ 6%7M




Adda

24

94. For which time intervals, is the percentage | 98.
rise of population the same for the following
data ?

Period Population
1970 40,000
1980 50,000
1990 60,000
2000 72,000
2010 80,000
99.
(a) 1970 — 80 and 1980 — 90
(b) 1980 — 90 and 1990 — 2000
(c) 2000 — 2010 and 1990 — 2000
(d) 1980 — 90 and 2000 — 2010

95. Four quantities are such that their arithmetic
mean (A.M.) is the same as the AM. of the
first three quantities. The fourth guantity is
(a)  Sum of the first three quantities
(b)  A.M. of the first three quantities
(¢) (Sum of the first three quantities)/4 100.
(d) (Sum of the first three quantities)/2

96. If the difference of two numbers ig greater
than the sum of the numbers, then
(a) Both the numbers are negative
(b) Exactly one of the numbers is negative
(¢) At least one of the numbers is negative
(d) None of the above

97. A palindrome is a number which reads the
same from left as well as from right, for
example, 23732. What is the number of
palindromes between 10 and 1010 ?

(a) 101
(by 100
(¢) 99
(d) 90
B-CRHE-O-PAPA (32-A)
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In writing all the integers from 1 to 300, how
many times is the digit 1 used ?

(a) 160
(b) 140
(e) 120
(d 110

Consider the sequential integers 27 to 93,
both included in the sequence. The arithmetic
average of these numbers will be

(a) 615
(b) 61
(e 605
(d) 60

Consider the following statements in respect
of Atal Pension Yojana :

L, Beneficiary must be in the age group of
18 to 40 years.

2. Beneficiary will receive the pension only
after he attains the age of 60 vears.

3. After the death of a beneficiary, his

spouse continues to receive the pension.
4, No nominee of the beneficiary is
permitted.

Which of the above statements are correct ?

(a) 3 and4only
(b) 1,3 and4only
(¢) 1,2 and 3 only
(d 1,2,3and4
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Walking at 3/4™ of his usual speed, a man
reaches his office 20 minutes late. What is the
time taken by him to reach the office at his
usual speed ?

(a) 80 minutes
(b) 70 minutes
(c) 60 minutes
(d) 50 minutes

Consider the following statements regarding
the Pradhan Mantri Suraksha Bima Yojana :

1. It is applicable for all bank account
holders up to the age of 60 years.

It is a life insurance cover.
It is an accident insurance cover.

The insurance covers death and
permanent disability due to accident.

Which of the above statements are correct ?

(a) 1and2only
(b) 3 and 4 only
(¢) 2and3only
(d} 1and4only

A and B run a 1 km race. A gives B a start of
50 m and still beats him by 15 seconds. If A
runs at 8 km/h, what is the speed of B ?

(a) 44 km/h
(b) 54 km/h
() 64kmh
(d) 74kmh

In a race of 1 km, A can beat B by 40 m and B
can beat C by 50 m. With how much distance

can A beat Cin a 0-5 kkm race ?
(a) 42m
(b) 43m
() 44m
(d) 45m

|
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106.
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In an office, 40% of the employees are men
and the rest women. Half of the employees
are tall and halt short. If 10% of the
employees are men and short, and
40 employees are women and tall, the number
of tall men employees i

(a) 60
(b)y 50
(c) 40
(d) 30

Which of the following were the main aspects
of the Gandhi-Irwin Pact of 1931 ?

1.  Suspension of the Civil Disobedience
Movement

2. To take part in the then forthcoming
Simla Conference

3. Pay taxes for the period of the Civil
Disobedience Movement

4, Release of Political Prisoners

Select the correet answer using the codes
given below :

(a) 1land3only
(b) 2 and 3 only
(e) 1and4only
(d) 2and4only

Which of the following is mot an absolute
measure of dispersion ?

(a) Range

(b) Mean Deviation

(e) Quartile Deviation

(d) Coefficient of Variation
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108. A provisions shop-owner is found to mix 25 kg
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of rice worth ¥ 32/kg and 20 kg of rice worth
¥ 3b/kg and the mixed rice is sold at 15%

profit. What is the selling price of the mixed
rice 7

(a) ¥ 35:40/kg
(b) ¥ 38-33/kg
(e) T 36-50/kg
(d) T 37-42/kg

The original lay of a rectangular plot ABCD
on open ground is 80 m long along AB, and
60 m wide along BC. Concreted pathways are
intended to be laid on the inside of the plot all
around the sides. The pathways along BC and
DA are each 4 m wide. The pathways along
AB and DC will mutually be of equal widths
such that the un-concreted internal plot will
measure three-fourth of the original area of
the plot ABCD. What will be the width of each
of these pathways along AB and DC ?

(a) 3m
(b) 4m
() 5m
(d 6m

At a dinner party, every two guests used a
bowl of rice between them, every three guests
used a bowl of dal among them and every four
guests used a bowl of curd among them. There
are altogether 65 bowls. What is the number
of guests present at the party ?

(a) 90
(b) 80
() 170
(d 60

(36—
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111. Social Security may provide cash benefits t
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persons faced with

1.  Sickness and disability

2. Unemployment

3.  Crop failure

4. Loss of the marital partner

Select the correct answer using the code
given below :

(a) 1,2 and 3 only
(b) 1,2 and 4 only
() 3 and4only
(d) 1,2,3and4

If 5 men and 9 women can finish a piece ¢
work in 19 days, 3 men and 6 women will d
the same work in

(a) 12 days

(b) 13 days

(¢) 14 days

(d) 15 days

If the radius of a circle is reduced by 50%, it
area will be reduced by

(a) 30%

(b) 50%

(e) 60%

(d) 75%

Employees State Insurance Act, 1948 cover
factors like

¥. Factories and establishments with 10 o
more employees.

2. Provision of comprehensive medical car
to employees and their families.

3. Provision of cash benefits durin;
sickness and maternity.

4, Monthly payments in case of death o
disablement.

Which of the above statements are correct ?

(a) 1,2 and 3 only

(b) 1,2 and 4 only

(¢c) 3and4only

(d 1,2,3and4
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the Pradhan Mantri Jeevan Jyoti Bima
Yojana :

1. Tt is applicable to all adults above the
age group of 18 years.

2. The premium is deducted from the
account holder’s bank account through
‘auto debit facility’.

3.  The life insurance worth is decided by
the account holder and he has to pay
the annual premium accordingly.

4. The life insurance amount is given to
the family after the death of the
subscriber.

Which of the above statements are correct ?
(a) 1and3only
(b) 1and 4 only
(¢) 2and4 only

(d) 2and 3 only

In an examination paper where maximum
marks are 500, A got 10% marks less than B,
B got 25% marks more than C, and C got 20%
marks less than D, If A got 360 marks, what
marks did D get ?

(a) 65%
(b) T0%
() 75%
(d) 80%

GET IT ON
Google Play

Directions : Each of the next four (04) items
consists of two statements, one labelled as the
‘Statement (I)’ and the other as ‘Statement (II).
Examine these two statements carefully and select
the answers to these items using the codes given
below : '

Codes:

(a) Both Statement (I) and Statement (II) are
individually true and Statement (II) is the
correct explanation of Statement (1)

(b) Both Statement (I) and Statement (II) are
individually true but Statement (IT) is not the
correct explanation of Statement (I)

(¢) Statement (I) is true but Statement (II) is
false

(d) Statement (I) is false but Statement (II) is
true

117. Statement (I) ; The effects of an income tax on
consumption, saving and investment are
micro effects.

Statement (1) : Income tax is an example of
direct tax.

118. Statement (1) : Trade between two countries
takes place on account of differences in costs.
Statement (II) : Different countries have
different factor endowments.

119. Statement (I) : Foreign investment may affect
a country’s export performance.
Statement (II) : Inflow of foreign exchange
may cause appreciation of local currency
leading to a rise in the price of export
commodities.

120. Statement (I) : Speaker of the Lok Sabha

appoints the Chairman of the Public Accounts
Committee.
Statement (II) : Members of Parliament,
eminent persons from industry and trade are
the members of the Public Accounts
Committee,

(38-A)
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